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Section I : Language (20 Questions, 40 Marks)

Passage :

In nature, predators and prey seem
to play a game of hide and-seek. Prey need
to hide, so predators do not find them and
eat them. Predators need to hide too, so
smaller prey cannot see them approaching.
Some animals have special colors or marks
on their bodies that help them hide among
trees, rocks, and grass. This blending is called
camouflage. The earth tone colors of deer
and squirrels help them hide from predators
among the browns of trees, bushes and soil.
A brown squirrel can be difficult to see when
it is scampering among brown autumn leaves.
A brown deer can be overlooked when it is
hiding between tree trunks. The deer and
squirrel’s special coloring help them hide from
predators. African lions have a tan body
coloring. However, lions use it not to hide
from predators, but to hide in savanna grasses
while watching for prey. A lion can sneak up
on prey without being seen more easily by
blending into the grassy environment. Another
popular animal camouflage color is green. The
green tree frogs of Australia blend in and hide
from predators better because of their color.
Green tree pythons and emerald boas,
meanwhile, are more like lions, using their
green color to blend in. When a likely meal
(arodent, bird or lizard) comes along these
snakes strike quickly, catching the prey. The
green snake’s shape and color help it hide
among the green forest leaves. The owl sleeps
during the day, as it does not want to be seen
by other animals. Notice how its feather

pattern and coloring match the tree trunk. The
praying mantis takes things a step further.
While its green to brown color helps it blend
in with vegetation, the mantis also mimics the
shape ofa stem or leaf. The mantis uses these
camouflage methods both to hide from
predators like birds, frogs, snakes, spiders
and bats, and to await prey such as insects
(including other mantises!), spiders,
hummingbirds, and small frogs and mice. Just
as important as color camouflage and
mimicry is pattern camouflage. Tiger stripes
and leopard and jaguar spots are all patterns
which help these cats hide among the plants
and shadows when they search for prey. In
nature, hide-and-seek is a game of life and
death. Pattern and color camouflage, and
mimicry, can give predators and prey a
survival advantage. Can you think ofany other
animals that have camouflage? This praying
mantis’ body mimics its environment. It looks
much like a leafor twig. This type ofblending
is called mimicry. A tiger has vertical stripes
that help to hide it among tall grass. This is
pattern camouflage.

Questions :

Q.1

How does a lion’s special coloring help it

0[0O]6)

1) It helps protect the lion from predators.

survive?

2) It helps the lion sneak up on predators
without being heard.

3) It helps the lion hunt prey without being
seen.

4) It makes the lion completely invisible.




Q.3

Q.4

Read the following sentence from the
article and choose the best definition for
the underlined words.

The earth tone colors of deer and squirrels

help them hide from predators. QR @

1) color of summer leaves

2) color ofthe morning sky
3) color of soil and ground
4) color of the planet Earth

Why do predators need to hide?
0000

2) to hide themselves from bigger animals

1) to protect themselves

3) to hide themselves from their prey
4) all correct

How does the mantis conceal itself?
1) by hiding under the leaves  (DQ QR @
2) by changing its colour

3) by its looks which are like a leaf or twig

4) by camouflaging itself

Which creature conceals itself by

0000
2) squirrel

resembling the tree trunk?
1) owl

3) frog 4) humming bird

The most appropriate antonym for
‘mourn’ is- DO
1) grieve 2) rejoice

3) enjoy 4) celebration

One word among the given word is
correctly spelt Identify the correctly

spelt word. DODOB@
1) performance 2) perfomance
3) performence 4) pearfomance

‘The horse was tethered to a tree near
the house’. The word ‘tethered’ in this

sentence means- 0016
1) attached 2) putin a cage
3) tied up 4) restricted

A speech which is given on the spot
without prior preparation is -----------

speech. 0016
1) extempore 2) elocution
3) exemplary 4) debate

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

If you were to form an anagram (change
the order of alphabet to form a new word)

from ‘listen’ it would be 0016
1) tonsil 2) lentil

3) silent 4) tense

Use an appropriate modal auxiliary to
complete the sentence - 0016
We -----meem- read instructions carefully.
1) can 2)can’t

3)will 4) must

Change to comparative degree -
‘Disneyland is the most interesting place

to visit.’ 00O
1) Very few places are as interesting as
Disneyland

2) Disneyland is more interesting to visit than
any other place

3) No other place is as interesting to visit as
Disneyland

4) Disneyland is more interesting than most
other places.

What is the part of speech of the
underlined word. 0016
We salute the soldiers who defend our
borders.
1) Verb
3) adjective

2)noun
4) adverb

“Oh my God it’s too late!”

What is the punctuation error in the
sentence? 0016
1) there should be comma after God

2) exclamation mark should be after God
3) there should be no exclamation mark

4) Exclamations mark should be after oh

Identify the kind of subordinate clause
in the sentence-

‘The girl who is performing on stage is
my sister?’ DO20®
1) adjective clause

2) adverb clause of place

3) noun clause

4) adverb clause of condition

When writing a letter to the principal of
your school the salutation will be-?

0[0O]6)




Q.17

Q.18

Q.3

1) Dear Sir. 2)Respected Sir Q.19 In only one of the following sentence
3)Yours sincerely 4)Yours obediently since can be replaced by because
What does the idiom ‘at sixes and sevens Identify the sentence 0[VO]0)
mean?’ DOR@ I have't enjoyed playing scrabble since I
1) in a state of disorder was a child " ) .
2) to be confused with numbers 2) I have been waiting for you since morning
3) ready to fight 3) I want to meet Chetan Bhagat since I have
4) to know everything thoroughly enjoyed his novel
A study of birds is carried out by an -—--- 4) .We he.we b.een .hStenmg.tO stories of
Krishna since times immemorial
DRO@ , ,
1) orthodontist 2) orthopedic Q.20 Which ofthese word would be in the fourth
3) oncologist 4) omithologist place if they are arranged alphabetically
0000
1) radio 2) radish
3) radical 4) radiant
19T 1 - 31191 (20 99, 40 3[0T)
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Q.12 'gier’ = viearen 3ok wE? . ,
1) e 2)%111135[(2%@@ Q.20 @WW@ 3R B0
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Section II : Maths (30 Questions, 60 Marks)
91191 11 : 3IfS1d (30 U, 60 II01)
D Find the value of 0.0049 3) 0.01 4) 10
m e value
VAEOTN 0.40 QOO0 2)  Which of following number lies between
TG 13.31 and 13.32 DOR®
1) e @ ;).49 D@ |2) wEEGUH w3 13.31 2707 13.32
D 0.1 2) 1.0 N T H? DOO®




3)

3)

4)

4)

5)

5)

6)

6)

7)

1) 13.35
3) 13.318

2) 13.05
4) 13.13

Only one alternative shows the correct

answer for 113x47. Find it. DQ® @
1) 3317 2) 3311
3) 4311 4) 5311
TRl Teh T 113x47 g UTTeRRTS! SRIeR
IR guifaal. A gnen? DOB@
1) 3317 2) 3311
3) 4311 4) 5311
4a+8
If ———=6(b+1) than find the value
of 2a-9b DOBR@
4a+8 ,

22 =6(b+1) 7 2a - 9b =i fF
hlal. 0OO]6)
1) 3 2) 4
3)5 4) 6

What is the difference between the de-
nominators of )89 and 0.89 ?(DQ R @

089 and 0.89 =1 BT ferciien Tieh TR ?

1) 10 )11 @OB@
3) 99 4) 1

Ratio of two number is 3:4, If 15is added
to both the numbers, ratio become 9:11

find the smaller number 00O
1) 35 2) 45
3) 30 4) 50

T T TUIR 3:4 AR, ) 1 aF
T 15 fredeam d= TUIRR 9:11 8.

™ 1 GEAWES BeE HEAl .
1) 35 2) 45 DOB@
3) 30 4) 50

Length of a hall is 12 metres, breadth 8
meters. If tiles of dimension 16 decimal
by 6 decimal are to be fitted. How many

tiles would be required. DO
1) 200 2) 10
3) 100 4) 50

7)

8)

8)

9)

9)

10)

10)

11)

11)

Teh! AURTETE Sisll 12 W R &4 4 Wi 3R,
@ 16 2. Tt wist @ 8 2 farft v

S Tehet Tvan sEfemn Ao ?
1) 200 2) 10 DROB®
3) 100 4) 50

What would be cost of painting a cube
from all the sides having lenght 7 cm

Rate of painting is 12/cm*> DQQR®@

1) Rs.3528 2) Rs.3258

3) Rs.588 4) Rs.2588

Teh TR SleheodTdies el sTj T

fereht el A5 ? SreheeaTsit wI1] 7 Al SR

A e 12 SR i A SR,
0000

1) % 3528 2)%®. 3258

3) % 588 4)%. 2588

Which of the yollowing are factors of

p*-4p*? 0000

p?- 4p? T USTEGE T v ?
0OIO[0)

1) p*-2p+dp? 2) (p+2p)?

3) (p-2p)(p*+2p)  4) (p-2p) (p+2p)

Which two alphabets shown the numbers.
Which are additive inverse of each

others? 0016
A C OFE B D
-1G 0 +1

1) A and D 2)G and D

3)C and E 4) Band F

foreer wem wyifaam? DOB@
A C OFE B D
-1G 0 +1

1)AdD 2)G aD

3)C JE 4)BaF

5 8 (4 2) 1
Find the value of - —X-7| %< |t

14 5
0INM]O16)
ol Ueradist  feud &=l




12)

12)

13)

13)

14)

14)

15)

ENNERIN

145 \73) 2 D20
7 2

1) E 2) E

3)6 4) 2

Sunil goes on his Scooters at 45 km/hr
rate, and travels for 3 hours and 40 mins
find the distance he has covered?

0INO]0)
1) 135 km 2) 157.5 km
3) 165 km 4) 140 km

gie uean The =R 45 TR, am
ATH Al 3R, M TRUT € 1 S
fafiR yam Fost. T feredt iR wIUe?

0INM]O]6)
1) 135 for. 1. 2) 157.5 for. A0,
3) 165 f&.4t. 4) 140 fr. 1.

Raj is elder than his sister by 5 years. If
addition of their ages is 37. Find Rajus

age after 5 years OINOIO)
1) 26 2) 21
3) 31 4) 29

T A1 AfRuiueT 5 auit I8t 3R, &
e agiel 9is SR 37 AR. W U=

i TeT 99 TRt 3@ W d hieEt?
1) 26 2)21 DOB®
3) 31 4) 29

6,3, 9, using these digit at least once find
the quotient when greatest -four digit
number is diveded by smallest there digit

number? DODOB@
1) 27 2) 28

3) 96 4) 36

§,3,R, & 31k Uehal Al aTu% HISTd Hig
TR 3l TEAR TR BEHTA BgH i et
HEI WA R ARTRR 1l 53 ?

1) 27 2)28 DOB®
3) 96 4) 36

Average age of 35 student is 14 years
Now if 5 new student of age 16 joined
this group. What would be the average

15)

16)

16)

17)

17)

18)

18)

19)

19)

of new group? 00O©]6)
1) 15 2) 15.25
3) 14.25 4) 14.50
35 feemeates Tl @@ 14 9 3R, SR
e 5 fereneff 16 a6 a@m Afem 3,
T 3T T TR SO el Tl
fereit 2 DOB®®
1) 15 2) 15.25
3) 14.25 4) 14.50

One agent sold certain articles worth Rs.
90,000 to a shopkeeper at 2 % commis-
sion from both of them. Find the amount

which agent would get? (DR ®@
1) 1800 2) 3600
3) 2700 4) 9000

TR THGM 90,000 HUTITAT GEq_ Tkl
THRFENST A. 2 % A fawean &
SIAERE TR ARG FHHT BAS
JMTAT™, A Pl Faga fRdt 9Q

foesfees? D@
1) 1800 2) 3600
3) 2700 4) 9000
Which of the following is not a perfect
square? 0016
WIUh! ST Uittt T ? Q)@

1) x*-6xy-4y*
3) x*-6xy+4y?

2) x*-6xy+9y?
4) x*-12xy+36y>

Find the lenth of a diagonal of a square

whose side is 8cm. 0016

D V128 2) J64

3) /32 4) J16

8 AT ST] IFESeA SRETeA1 ST Bt

el O20®

D V128 2) J64

3) /32 4) J16

Find the value of 40% of 6400 ?
OI0O]6)

6400 = 60% FEUTS fahet o et
O20®




20)

R0)

21)

21)

22)

23)

23)

1) 2760
3) 1600

2) 2560
4) 2400

In a linear pair if one angle is acute angle,
Then the second angle would be---—---—---- .

0006
1) Obtuse angle 2) Acute angle
3) Right angle 4) Congruent angle
Teh! W AES Ueh, Teh Shid SR
AT, T N SIS GO - —————— .
0OO]6)
1) Obtuse angle 2) Acute angle
3) Right angle 4) Congruent angle

‘Which alternative shows the fraction with

least value ? 0016
10 4
1) E 2) 7
7 13
3) 10 4) 6
SR Ut Gald Be 3TYUTich 3TR?
D 22
) 13 ) > D@
7 13
3) 10 4) 6

Smita reads 24 pages of a book every day
she finished the book in 36 days. If She
the decides to read 16 pages . In how
many days she would finish the book ?

0000
1) 42 2) 39
3) 54 4) 64

o et qEaeRTeR AT 24 UM e, WA

geeh it 36 feaam Hued. SR fR I 16
IR drEEEl  otEet, W d e dt fehdt

e arem Wude? D2B@
1) 42 2) 39
3) 54 4) 64

Difference between two numbers
3924.007 And one of these numbers is
7325.61, Thenfind the second number.

0[0O]6)

1) 3401.603 2) 3406.63

23)

24)
24)

25)

25)

26)

26)

27)

27)

28)

3) 3410.603 4) 3407.36

3 TEAS W 3924.007 TR, S
Tk GEAT 7325.61 AR, W gEA HEA

Mes@n? DOR®
1) 3401.603 2) 3406.63

3) 3410.603 4) 3407.36

Find the valueof 5° - 5'x52DQQ®@
forrd wEt 58 - 54 x 57 DO0®
1) 53 2) 5*

3) 5° 4) 52

70, 105, are the two numbers, Find the
difference between their LCM & GCD?

1) 75 2)35 DOR@
3) 175 4) 125

70 STfUT 105 <N 9 AT @4,
3foT A.H1. . 7efte wes D)@

1) 75 2) 35

3) 175 4) 125

If ‘a’is an odd number, find the 15" even
number after ‘a’? 0016
1) at30 2) at29

3) a+l5 4) a+16

‘a’ B faom dea IR, A=l 15 &t

AHEEA Al DOB@
1) a+30 2) a+29
3) a+15 4) a+16

Angles of the quadrilateral are in the ra-
tio 1:2:3:4 find the measure of the great-

est angle. DO20®
SRSl SR <R 1:2:3:4 71 ORI 2.
T IS TSI hiATe T 1T ?

1) 60° 2) 90° DOB@
3) 72 4) 80°

In which type of triangle circumcentre,
incentre, orthocentre and centroid lie at

a single point? 0016
1) equilateral triangle  2) Isosceles triangle
3) right angled isoceles triangle

4) Scalene triangle




28)

29)
29)

Q.1

Q.1

Q.2

Q.2

Q.3

Q.3

Q4

I Breptuna AeEEn Huw fog, o
Hurd, URehg, Jdddened Tehe 3Rl

1) THS Bt OOR®®
2) GHSIS frenm

3) I GHEIS! FehIT

4) faaeqs frenmn

Find the value of 103x97 00O
103x97 =it féma & O0O0)

30)

30)

1) 9981
3) 9791

2) 9881
4) 9991

1024 cannot be expresseds by which of

Section III : Science (30 Questions, 60 Marks)

9l 111 : farsirer (30 w9, 60 3g0t)

Which of the following is a renewable

Resource? DOOB®

1) Air 2) plants

3) mineral 4) water

WIS Uehl UM Hid e 3TR.
0006

1) &l 2) IEadl

3) sl 4) qoft

Which gasis not in the composition of air?
0OO]6)

1) oxygen 2) nitrogen

3) hydrogen 4) carbon dioxide

TR -~ - T g T . D@

1) 3iferdieH 2) TI2SH

3) A 4) FETEH SHFEe

When is Akshayya urja din? Q) Q@

1) 20 August 2) 21 October

3) 19 September 4) 20 June
——————————— T 31T It oA TeU[A UTesest
el 0]0OO0)
1) 20 SR< 2) 21 SRR

3) 19 TR 4) 20 S

Which chemical is sprayed on water
reservoir in large quantities? QR @

Q4

Q.5

QS5

Q.6

Q.6

the following ? DOOB®

1024 & UEa e Ueht shiuren uaiEe

=T B R ? DB

1) 10.24x10? 2) (4’

3) ()" 4) (5)*

1) ethyl alcohol 2) methyl alcohol

3) cetyl alcohol 4) isopropyl alcohol

HIGT SIS JEHFTER - - - —— - ————-

? TEEH HaRS S DORD

1) UES sTowhEe  2) HURs sTowhEs

3) TREIS SATHIES

4) TP WIS 3TehiEe

When is world water day celebrated?
OI0O]6)

1) 22 March 2) 20 August

3) 21 March 4) 22 September

MM S —---------- a1 feait

STl 0000

1) 22 7 2) 20 3R

3) 21 9 4) 22 TR

Which comes in between in solar eclipse?
0000

1) Sun 2) Moon

3) Earth 4) stars

—————————— & GHIRUT=E Set et

. D@

1)@ 2) =%

3) geall 4) a1




Q.7  Theshadow umbra formedis QB @
1) Dark 2) Faint
3) both 4) medium

Q7 WEBMEl----------- . DRBA
1) 3zh 2) Ty
3) 3= 4) qETm

Q.8  Following is not good conductor of heat?
1) copper 2)Iron QR @
3) sawdust 4) aluminum

Q8 ———-—-——- 1 ISUTden galeeh 3R,
1) i 2)TEDRO@
3) kel Ml 4) FHegfiay

Q.9  Freezing point of mercury is: Q3@
1)-25% 2)-39°¢
3)-27°¢ 4) -14°%

Q9 - TN ST 37T,

0000

1) -25°C 2) -39°C
3) -27°C 4) -14°C

Q.10 Which is not the cellular level
organization? DOOB®
1) amoeba 2) hydra
3) spirogyra 4) euglena

Q.10 T 7 IO wEE W, DRB@)
1) 31fHen 2) BEGI
3) TR 4) gt

Q.11  Which of the following is viviparous?

0000

1) snakes 2) hen
3) pig 4) sparrow

QU -—-—-—--- T 3T TR D@
1) 9M 2) HiaEl
3) gt 4) femoit

Q.12

Q.12

Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

Which of the following is donor group.

1A 2)B @OQ0®®
3)0 4) AB
--------------- T TR & i
. 00O
DA 2)B

3)0 4) AB

Which of the following is non — metal

elements? 0016
1) Copper 2) sodium

3) sulphur 4) mercury
——————————— AT 0000
1) disl 2) Qifezm

3) TiEeh 4) N

‘Which of the following is symbol for gold?

hAg 2Au DQO@
3)Go 4)Cu
BUE TR Q0@
1)Ag 2)Au
3)Go 4)Cu

Which of the following is formula for

sugar? OI0]O]6)
) C H 21 12 2) C,H,0,
3) €, 1,0, 4) C,H,0,

w@émﬁm;ﬁﬁvﬁ D2BE
1) C._H 2) C.H.O

127722711
3)C H 4)C H.O0

127722712

12 21 12

11 20 10

Which is the audible range? MHQ Q@
1) 20 - 20000Hz 2) 20 -200Hz
3) 20 - 2000Hz 4) 200 -20000Hz

¥ 3.
1)20-20000 Hz
3) 20-2000 Hz

0[0O]6)
2) 20-200 Hz

4) 200-2000 Hz




Q.17

Q.17

Q.18

Q.18

Q.19

Q.19

Q.20

Q.20

Q.21

Q.21

What is the speed of light? DR @
1) 3x10% m/s 2) 1.5x10° m/s

3) 5x10° m/s 4) 4x10" m/s
SRR &= ool
1) 3x10%m/s 2) 1.5x10%m/s

3) 5x10°m/s 4) 4x10"m/s

Which is not a part of digestive system?

00O0)
1) mouth 2) oesophagus
3) stomach 4) lungs
———————————— B U T 3T el
OO®O@
1) die 2) 3TeHfesR
3) SR 4) TFEH

Which of the following is not a sugars?

0OO]6)
1) fructose 2) proteins
3) glucose 4) lactose
—————————— gy Q0O
1) RN 2) TfeH
3) 4) SFS

Which of the following doesn’t contain

Vitamin A? DO
1) Dal 2) carrots

3) papaya 4) milk
——————————— HEA 31 SHiaEed T,

1) Sl 2) TSRDRR@
3) Tug 4) 3™

Which of the following is natural
preservative? DOB®@
1) Boric acid 2) sodium chloride
3) citric acid 4) Acetic acid
—————————— T e fesrauaadt amawen
WU TfiE ew R D@
1) e 37de 2) Hifeam FORES
3) Wik 3V 4) s s

Q.22

Q.22

Q.23

Q.23

Q.24

Q.24

Q.25

Q.25

Rickets is caused due to deficiency?

0OO]6)
1) Vit A 2) Vit. C
3) Vit. D 4)Vit.B
——————————— SiaeeaTea STa Rored
& ST Bl DOR@
HA 2)C
3)D 4)B

Image formed by the pinhole camera is

00O0)
1) Erect 2) Inverted
3) sometimes erect 4) All of these.
u@ﬁaﬁa FAAM - - ———— === ufem qEn
0000
1) aﬁ@ 2) 3l
3) Fatod W3 4) T SRR
The shape of shadow depends upon
1) Size of object 00O
2) position of source of light
3) size of source of light
4) shape of object.
Tfaen SMERR-----—----- W G
STl DQR®
1) TgTer SR
2) JehIST B S
3) RIS BT TR
4) TR STRRAM
In which of the following permanent

magnet is not used? O20®@
1) Magnetic door catches

2) Loudspeaker

3) In compass

4) None of these.

__________ TR HIIHETEU SelhTel TR
I . 000]6)
1) e Bleetd  2) eeriHae

3) BT 4) =Rl e




Q.26

Q.26

Q.27

Q.27

Q.1

Q.1

Q.2

Q.2

The motion exhibited by the ball rolling

Q.28

Which acid is weak acid of the following?

down on inclined plane is -———--- DB
DO20® 1) Hydrochloric acid ~ 2) sulphuric acid
1) Rotational and circular 3) acetic acid 4) Nitric acid
2) Rotational and periodic
3) Rectilinear and rotational
28 T A SHUT UIiE yne.
4) uniform motion Q w D2O®
1) HC1 2) H,SO,
, 3) ik T 4) TS TS
ARTERE TRTesa AU Siget et ——————-
~---37Eq? Q0@
.29  Which is odd — man out?
1) 9901 & etk 2) W1 & ST Q OO0
3) i 3 4) 1) NaHCO, 2) NaOH
: 3) NH,OH 4) CH,COOH
r;::)z;t is the source of food art(iglg) g@lv(%l 0.29 3 a1 e, DOO@
) . 1) NaHCO 2) NaUH
D plants 2) animals 3)NH,OH 4) CH,COOH
3) humans 4)Both (1) & (2) ) NH, ) CH,
3, 3R, SR & Ty R or garef —-————— Q.30 \1V111;ch is the symbol 0; lea:? 0016
P
=T e QOO0 3% Sn 4% Cr
1) et 2) Joit
3) 9= 4) 132 RN
Q30 TR=--------- : DRO@
1)Ld 2) Pb
3)Sn 4) Cr
Section IV : Intelligence Test (20 Questions, 40 Marks)
181 1V : geferTar aravit (20 193, 40 3[1)
7,12,20,23,25,29,32,34,39,41,45,48,52,
59. What is the difference between the
gretest odd number divisible by 3, and
smallest even number divisible by 5,?
(1)25 228 DB 0[0O]6)
(3)20 (4)24
7,12,20,23,25,29,32,34,39,41,45,48,52, (D1 (2)3
59, 9 AT SO Watd Wieal HEAA 3)5 4)7
tlﬁﬁ HET STUT=A1 FIT:I"T'I el 9H ﬁ@?ﬁg Q.3 In a code ]anguage. @@@@
ek ferdt ? 0NOO) 24=14,63=27, 37=31,43=19
(1)25 (2)28 Then 93 =2
(3)20 (4)24 (1)36 (2)39
How many triangles are these en the (3)42 (44l
given figure ? DOR@ | Q.3. TH Hicheteh WIHd D@
EreTaon w T ot FrepiuT ama ? 24=14, 63=27, 37=31, 43=19,
W 93="2
()36 (2)39




Q4

Q4

QS5

QS5

Q.6

Q.6

Q.7

Q.7

(3)42 (4)41

Find the next figure from the alternatives.

0[0O]6)
T I8 S e Q@@

X O £ X O X
X o) ‘?
b b Q’ °
1 o 2
) X X )XO@
3 x 4
) & O )z&ox

Which of the following shows the set of
School,Playground,Library. (D3 @

WSS R GA IS, BB BeH a
AT TrEferdl ? D2BE

(1 ) @
3) @ Q) @ Q

Find the number in place of question

marks. DOOB®
O]0OO0)
3 12 9
VASWANWAN
(1) 12 (2) 144
(3)64 4)4

Meena is taller than Seema, Shobha is
shorter than Seema,Devina is taller than
Seema but Shorter than Meena who is

shortest among them. 00O
(1)Meena (2)Seema
(3)Shobha (4)Devina

T dHmaen 9 3R, v Wumnen geeht
e . 2fem diamen S5 e U HEmen

Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

Tt 3R, oA Seehl iUl 3T,

(1) QIMDORD
(3) Inem (4) o
7,13,19,25,31,? Find the next number
(1)38 239 ©O®®@
(3)35 (4)37
7,13,19,25,31,2 Yeics T&A INEn

(1)38 239 ©O®@
(3)35 (4)37

Make a meaningful word from the
jumbled letters,and write the second last

letter of that word ? 00O
SRETIIMN

()E (2R

(3)S (“M

WA ST Teh 312901 9168 TR T
= Ya g Am . R0
ga = E Oy

()Y Q)™

3= (4)f

In a row there were 49 student,Reena is

4th from front.meenal is 8th from
back.How many student are between

them? 00O
Tt Tt fereneff 49 S92 3mea fmmen wHiw
U = TR R HiriceIt shilieh AR TSl
3R, W e Sreftean wed BF? DO @)
(1)35 (2)37

(3)39 (4)41

If love is to affection then anger is to
what? 00O
(1)kindness (2)Hatped
(3)emotion (4)Jeobusy

R I W1 R WA wE? (DRR)@)
(1) Seeaon (2)

(3) Hrer (4) st

Nine numbers 7,77,777,..cccc... are added

together In their total which of the fol-
lowing digit would be in hundreds place ?

()7 29 O20®
(3)3 4)5
777,777 v 37T 7S & S hodt




Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

Q.17

T ITAREAT RITTAT ek A3H?
(17 29 OO®®
(3)3 (4)5

The distance between 16 poles is 480
metres. All the poles are at equal
distance.then what is the distance be-

tween Sthand 9thpoles? (DR ®@
(1)128m (2)120m
(3)150m (4)132m
T Tisdie 3w 480 W.2mR.4d Tis
HAREAT TR 3, T Uraedl & Taedn
Eiaies 3R ferdi? DOR®
(11284 (2)1204
(3)1504 (4)1324

In the year 2011,first day of the year
Tuesday.write the middle lette of the day

on the day of that year ? DOOB®
(Du (2)e

(3)s (4)d

2011 B 98 SR Tuesday &1 G& HIS R,
Fufe Yigesan ey St AR 16w, e
TUSH AT HElD AR iU ?

(Du 2e OOO@
3)s 4)d

1614612 = 18, is a mathematical
expression.which alternative shows
mathematical operation in correct order

to replace the boxes OINOIO)
(1) +, x, x 2+ x, +

(3) +, -, x (4) +, + x
160406712 = 18, ® T WU fean
3R, AT ehiuTet formg T deg arue
3 fheg aa Ae? DOR®@
(1) +, x, x 2+ x, +

(3) +, -, x (4) +, + x

Find the odd term 0N
(1)207 (2)504

(3)204 (4)306

foreis ug ehemEn OO0®
(1)207 (2)504

(3)204 (4)306

If stem is called branch,brach is called

Q.17

Q.18

Q.18

Q.19

Q.19

Q.20
Q.20

leaf,leaf is called flower,than in two same
code Lan-guage,which part help in pho-

tosynthesis ? 0016
(1)branch (2)flower

(3)leaf (4)stem

Teh1 Wichdleh YN SR S TEUS Widl,
Hidt TEU UM, UM RIS e, TR
Hichdleh WINA USRTITHISHUTE <hIUT Wed
N DR0@
(1) e (2) 3

(3) 9 (4) widt

In the given alphabet series sense letters
are missing.which alternative show them

serially. D@
Pq_S, qrs_, Ispq_pqr

(Drps (2)prs

(3)rsp (4)rgs

fedean ATHiGd wTE AMWMMBA B
A, IV U1 eSSt eN T v
3Med 7 D@
Pq_S, qrs_, Ispq_pqr

(Drps (2)prs

(3)rsp (4rgs

If the alphabets from A to Y in the reverse
order,which letter would be Sth from right

hand side? OO0®
1)V (2)8S

3T (4HU

AtoY Bl SIS JUiHTS! 3o A Tovgea™
I T UTed A EHRUT? (DR @
1)V (2)8S

3T )

Find the odd term. 00O
forslie ug fesaE : 00O
AN

(3) 4)




Answers : /3T :

Section ITI / 9T IIT :

Section I :

Li{D[2.3)]3 2|4 | D53 L2233 |D]|4 3|5 |D
6.2 7.12 |8 2]9.]3]10.]2) 6. 12| 7./ |8 ]3)]9.]2)|10.]2)
1. 4) [12. 2) [13.] 3) [14.| D [15.] D) 11.| 3) [12.[3) [13.| 3) [14.| 2) [15.| 2)
16.| 2) [17.| 3) |18.| 2) [19.| 3) [20.| D) | | |16.| D) [17.| 1) [18.] 4) [19.] 2) |20.] 1)
—— 21.| 2) 22.12) |23.|2) [24.|4) [25.| )
L322 D324 D5 |3)]]]26]3)]27.]2) [28.|3)]29.|4) [30.| 2)
6.2 7.13(8]2]9.]3)]10.] D Section IV / ST IV -

11.| 2) [12.] 2) [13.| 3) | 14.] 3) [15.| 4) o205 204 3]s 2
16.| 4) [17.] 1) |18.] 3) [19.] 3) | 20.] 2) 619713 8 09| Dl0l2
Section I : / 9T L : 1. 2) [12.| 4 [13.| D |14.] 3) |15.] 2)
LIDJ2]3) 3. D[4 ]5|D]|]16|3)|17.] 2 [18.| D [19.] 4 |20.] 3)
6.12)7.13) (8| D9 [4H]|10.]3)

11.| 4) [12.|3) [13.| 1) |14.| 1) |15.] 3)

16.] 2) [17.] ) [18.] 3) [19.] 2) |20.] 1)

21, 2) |22.|3) [23.| 1) [24.| 4) |25.| 3)

26.|2) |27.3) [28.| 1) [29.]4) [30.| 4




